et 2L FYARL Y HYols 73} B
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@D 41V2 @ 4242 O 432
@ 442 ® 452




o3 283 22 AABC oA /B = 85°, /C = A
65°, BC =12 d uj, AB 2] Zo]& A7 o}
AR A=) 74A] FSHH? (T, sin 65 ° = 0.9063)
® 20.153 @ 21.751 3 22.482

@ 23.581 ® 24.372




3. oS 199 BAAPHY ABCD A
AB = 6cm , BC = 10em , /BCD =
120° & wj, AC o] Zo]=?

O V67 @ V71
® 219 @ /86
® V95



ohe 2" Zo] mA9] o]zt 8em 0] 1L A
U o] viz]20] Ao|7} 4cm Q1 Yol Q)
of. o] ¥&e] Eole?

@D 4 cm @ 4vV2cm ® 4V3em
@ 4+5cm ® 4V6cm






6. =™ HAE ABCA ¢
A AABC 9] &°] h+=?

@ 30(V3+1)

@ 40(V3+1)

® 50(V3+1)

@ 60(

(

0(V3+1)
® 80(V3+1)



thg 13} o] 7HA 0] 200m Q! F AEo] it Y& o] v AE]
LA g AES Yot 2 2= 60° o] 2 Yo 2 A E =
45° 4 o, o FAE9] o] & oot

C
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L]
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DA60° [ ][]

ogre 400

HE HN

A ~200-"B

@ 200m @ 200 (1+ V2)m
® 200 (1+ V3)m @ 200 (1+ V5)m

® 200 (1+ V6)m



U 1 Zol 4249 ABC A
BC = 10cm , AH 1 BC, /ABC =
40°, /ACB =50° ¢ o, CH ¢ Zo]
7 (& tan50° = 1.2, tan40° = 0.8
)

@D 2cm @ 4cm ® 5cm @ 6cm ® 7cm



9. & 19 AABC oA LA =30°, ,CBH = 60°, AB =40 ¥ ),
AABC 9] Hol=?
A‘.40,/ H

@D 203 @ 2003 ® 4003
@ 6003 ® 8003



10. ©h& 1A AABC 9] Wol=?

T sin | cos | tan

22°10.37(0.93(0.40

50° 10.77]0.64|1,20

@® 150 cm? @ 160 cm? ® 180 cm?

@ 240 cm? ® 360cm?
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@
®
@

®

(A bE LW, a=bsinA, c =bcosA°|T}.

A} cE L T, a=ctanA, b= ¢ o]
cos A

(AStaZS T uf b= ¢ o

sinA’ €= tan A
T ¥o] o] g, ¢} 71917 BE & o, A7 9 Hol=
§accosB°]q.
‘—1:r ol o] p, c&} 7|97 LAE &, 4P 9] Hol=
ibcsinAO]‘:]'.



12.

@ 25
@ 36

@ 35
® 46

® 26




13. o2 1389 AABC oA AB=8, AC = 12, BAC = 60° o]1 &
G 7} AABC 9] EASAHY wj, AGBD 2] Hol&=?

D 22 @ 23 ® 342 @ 343 ® 43



14. 03 283 o] WA Lot 12em
21 90 of sk o1ty e Holg

=] =
sfef.
@ 400 cm? @ 412 cm?
@ 422 cm? @ 432 cm?

® 448 cm?




15. EZ% O Zol Y09 A ABY A
A 9] A PoA ¥ O 12 HA9
HAL T} sta PT = 46, AB = 10,

P =30° < o, AATB 9] Hol]=? 2

‘ [q] “ —:' ] P
~~4/6 -7 T

D 32 @ 36 ® 52

@ 10V3 ® 106



